

IFB # 26-23 Full Depth Roadway '25
Bid Opening: 10/7/2025 at 2:00 PM

				D'Ambrosia		Marchese		Newport	
Item No.	Quantity	Unit	Description	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount
102.511	50	EA	Tree Protection Anchoring & Pruning	\$300.00	\$15,000.00	\$20.00	\$1,000.00	\$600.00	\$30,000.00
103	10	EA	Tree Removed – Diameter under 24”	\$1,800.00	\$18,000.00	\$1,400.00	\$14,000.00	\$3,500.00	\$35,000.00
104	10	EA	Tree Removed – Diameter 24” & Over	\$2,800.00	\$28,000.00	\$2,100.00	\$21,000.00	\$5,500.00	\$55,000.00
105	10	EA	Stump Removed	\$800.00	\$8,000.00	\$500.00	\$5,000.00	\$500.00	\$5,000.00
119	1	LS	Rodent Control	\$6,000.00	\$6,000.00	\$100.00	\$100.00	\$30,000.00	\$30,000.00
120.1	3400	CY	Unclassified Excavation	\$55.00	\$187,000.00	\$1.00	\$3,400.00	\$85.00	\$289,000.00
129	400	SY	Pavement Milling	\$30.00	\$12,000.00	\$70.00	\$28,000.00	\$65.00	\$26,000.00
141.1	150	CY	Test Pit for Exploration	\$10.00	\$1,500.00	\$100.00	\$15,000.00	\$185.00	\$27,750.00
142	20	CY	Class B Trench Excavation	\$30.00	\$600.00	\$100.00	\$2,000.00	\$95.00	\$1,900.00
144	20	CY	Class B Rock Excavation	\$30.00	\$600.00	\$1.00	\$20.00	\$425.00	\$8,500.00
151	550	CY	Gravel Borrow	\$40.00	\$22,000.00	\$1.00	\$550.00	\$125.00	\$68,750.00
156	250	TN	Crushed Stone	\$60.00	\$15,000.00	\$35.00	\$8,750.00	\$25.00	\$6,250.00
170	19750	SY	Fine Grading and Compacting	\$14.00	\$276,500.00	\$0.01	\$197.50	\$1.00	\$19,750.00
187.3	10	CY	Removal & Disposal of Drainage Structure	\$10.00	\$100.00	\$200.00	\$2,000.00	\$450.00	\$4,500.00

201	20	EA	Catch Basin	\$8,500.00	\$170,000.00	\$8,000.00	\$160,000.00	\$12,500.00	\$250,000.00
202	10	EA	Manhole	\$6,700.00	\$67,000.00	\$8,500.00	\$85,000.00	\$12,540.00	\$125,400.00
204	10	EA	Gutter Inlet	\$4,250.00	\$42,500.00	\$5,000.00	\$50,000.00	\$10,000.00	\$100,000.00
220	16	EA	Drainage Structure Adjusted	\$800.00	\$12,800.00	\$350.00	\$5,600.00	\$650.00	\$10,400.00
220.2	50	EA	Drainage Structure Rebuilt	\$1,700.00	\$85,000.00	\$150.00	\$7,500.00	\$500.00	\$25,000.00
220.5	12	FT	Drainage Structure Remodeled	\$600.00	\$7,200.00	\$500.00	\$6,000.00	\$1,285.00	\$15,420.00
220.6	12	FT	Sanitary Structure Rebuilt	\$600.00	\$7,200.00	\$150.00	\$1,800.00	\$500.00	\$6,000.00
220.7	6	EA	Sanitary Structure Adjusted	\$800.00	\$4,800.00	\$350.00	\$2,100.00	\$650.00	\$3,900.00
220.8	6	EA	Sanitary Structure Remodeled	\$1,700.00	\$10,200.00	\$500.00	\$3,000.00	\$1,285.00	\$7,710.00
222.3	25	EA	Frame & Grate (or Cover) Municipal Standard	\$1,600.00	\$40,000.00	\$650.00	\$16,250.00	\$1,585.00	\$39,625.00
224	16	EA	Eliminator Hood Catch Basins	\$200.00	\$3,200.00	\$350.00	\$5,600.00	\$1,285.00	\$20,560.00
234.12	800	FT	12 Inch Polyvinyl-Chloride SDR 35 Drain Pipe	\$150.00	\$120,000.00	\$145.00	\$116,000.00	\$240.00	\$192,000.00
238.10	200	LB	10 Inch Ductile Iron Pipe	\$165.00	\$33,000.00	\$217.00	\$43,400.00	\$285.00	\$57,000.00
309	75	LB	Ductile Iron Fittings for Water Pipe	\$1.00	\$75.00	\$25.00	\$1,875.00	\$25.00	\$1,875.00
354.12	20	EA	12 Inch & Under Gate Box Removed & Reset	\$375.00	\$7,500.00	\$1.00	\$20.00	\$500.00	\$10,000.00
357	10	EA	Gate Box	\$600.00	\$6,000.00	\$225.00	\$2,250.00	\$850.00	\$8,500.00
358	10	EA	Gate Box Adjusted	\$375.00	\$3,750.00	\$225.00	\$2,250.00	\$550.00	\$5,500.00
381	50	EA	Service Box	\$600.00	\$30,000.00	\$200.00	\$10,000.00	\$365.00	\$18,250.00
381.3	50	EA	Service Box Adjusted	\$275.00	\$13,750.00	\$1.00	\$50.00	\$350.00	\$17,500.00
403	7350	SY	Reclaimed Pavement for Base & or Sub-base	\$8.00	\$58,800.00	\$40.00	\$294,000.00	\$18.85	\$138,547.50
420	900	TN	Hot Mix Asphalt Binder	\$125.00	\$112,500.00	\$132.00	\$118,800.00	\$285.00	\$256,500.00
440	9600	LB	Calcium Chloride for Road Dust Control	\$0.10	\$960.00	\$1.00	\$9,600.00	\$1.00	\$9,600.00

460	865	TN	Hot Mix Asphalt	\$130.00	\$112,450.00	\$140.00	\$121,100.00	\$285.00	\$246,525.00
464	250	GAL	Bitumen for Tack Coat	\$1.00	\$250.00	\$18.00	\$4,500.00	\$18.00	\$4,500.00
464.5	2650	FT	Hot Poured Rubberized Asphalt Sealer	\$1.00	\$2,650.00	\$1.50	\$3,975.00	\$2.00	\$5,300.00
472	300	TN	Hot Mix Asphalt for Misc. Work	\$195.00	\$58,500.00	\$300.00	\$90,000.00	\$285.00	\$85,500.00
482.5	3150	FT	Sawing Asphalt Pavement & Sidewalk Joints	\$2.00	\$6,300.00	\$2.00	\$6,300.00	\$5.00	\$15,750.00
504	1730	FT	Granite Curb Type VA4 - Straight	\$87.00	\$150,510.00	\$80.00	\$138,400.00	\$90.00	\$155,700.00
504.1	235	FT	Granite Curb Type VA4 - Curved	\$104.00	\$24,440.00	\$100.00	\$23,500.00	\$135.00	\$31,725.00
516	30	EA	Granite Curb Corner Type A	\$600.00	\$18,000.00	\$460.00	\$13,800.00	\$500.00	\$15,000.00
520.12	20	EA	Concrete Curb Stop Remove & Reset	\$1.00	\$20.00	\$300.00	\$6,000.00	\$215.00	\$4,300.00
580	4300	FT	Curb Removed & Reset	\$40.00	\$172,000.00	\$41.00	\$176,300.00	\$50.00	\$215,000.00
582	280	EA	Curb Corner Removed and Reset	\$180.00	\$50,400.00	\$60.00	\$16,800.00	\$125.00	\$35,000.00
670	50	FT	Fence Remove & Reset	\$65.00	\$3,250.00	\$44.00	\$2,200.00	\$165.00	\$8,250.00
697.1	50	EA	Silt Sack	\$100.00	\$5,000.00	\$150.00	\$7,500.00	\$250.00	\$12,500.00
701	2625	SY	Cement Concrete Sidewalk	\$115.00	\$301,875.00	\$105.00	\$275,625.00	\$185.00	\$485,625.00
701.1	735	SY	Cement Concrete Sidewalk at Driveways	\$115.00	\$84,525.00	\$126.00	\$92,610.00	\$185.00	\$135,975.00
701.2	150	SY	Concrete Curb Wheelchair Ramp	\$120.00	\$18,000.00	\$126.00	\$18,900.00	\$385.00	\$57,750.00
702	25	TN	Hot Mix Asphalt Walk Surface	\$300.00	\$7,500.00	\$310.00	\$7,750.00	\$585.00	\$14,625.00
703	50	TN	Hot Mix Asphalt Driveway	\$300.00	\$15,000.00	\$310.00	\$7,750.00	\$285.00	\$29,250.00
706.1	50	SY	Brick Walk Removed & Re-laid	\$395.00	\$19,750.00	\$225.00	\$11,250.00	\$725.00	\$36,250.00
707.8	10	EA	Steel Bollard	\$1,000.00	\$10,000.00	\$800.00	\$8,000.00	\$1,900.00	\$19,000.00
751	100	CY	Loam Borrow	\$75.00	\$7,500.00	\$75.00	\$7,500.00	\$95.00	\$9,500.00

